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2. In terns of the sustainable competitive advantage, each of the following parts describes
a firm that was an early mover in its market. Based on the information provided, please
indicate whether the firm’s position as an early mover is likely to be the basis of a

sustainable competitive advantage. (#fx =B ZW!475EZ) (30%)
(1) An early mover has the greatest cumulative experience in a business in which the slope

of the learning curve 1s 1.
(2) A bank has 1ssued the largest number of automated teller machine cards in a large

urban area. Banks view their ability to offer ATM cards as an important part of their
battle for depositors, and a customer’s ATM card for one bank does not work on the
ATM systems of competing banks.

(3) A firm has a 60 percent share of T3MP, a commodity chemical used to make industrial
solvents (7&%[). Minimum efficiency scale is thought to be 50 percent of current

market demand. Recently, a change in environmental regulation has dramatically

raised the price of a substitute chemical that indirectly competes with T3MP. This
change undermines GXREN{EZE ... BYFEME) the market for the substitute, which is about

twice the size of the market for T3MP.

3.  Gatignon & Reibstein (1997) used the following decision model for an incumbent in
shaping its response to a new entry. Please comment the model and raise its
applications 1n Acer’s response against Compaq’s or IBM’s TabPC launching. (12.5%)

SLLAGERD

4.  What 1s required for a related diversification strategy to produce synergy? Please
explain. (12.5%)

5.  Which source of competitive advantage 1s usually more sustainable: a patent or a brand?
Why? (12.5%)

6. If you were a market leader in an industry, which of the strategies that reflect
competitive dynamics would probably be the most attractive to you? If you were a
weak competitor with few resources, which strategy would you likely find attractive?

(12.5%)
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RESPONDING TO COMPETITIVE ACTIONS

Decision Model for Determining Response to a2 New Entrant

Retaliate against the
new entrant

Mateh attacker

Immediate

| Respond In the same
product/market

ls a respanse
appropriate?

Yes

How aggressive should
the response be?

Abandon the market

How fast should the
response be?

What marketing initiatives should be taken?
* Pricing?
* Product Strategy?

What should be the
domain of response?

* Communication?
.o Distribution?

No
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